SOUTHERN F

D POWER INC.
Sales Service Design Fabrication

Call Us Now! Toll Free: 1.800.379.6002 Local: 905.760.5546
100 Fernstaff Court, Unit#1, Vaughan, Ontario, L4K 3L9

1 P-2933800774 SHAFT K3v112
1 P-2933800884KD SHAFT K3v112
1 P-2933800860 SHAFT K3Vv140
1 P-2933800890KD SHAFT K3Vv140
3 P-2953801840KD BALL GUIDE K3Vv140
1 P-2943800488KD PISTON RETAINER K3Vv140
3 P-2953801991KD SWASH PLATE ASSEMBLY K3Vv140
2 P-2923330026 SUPPORT K3Vv140
1 P-2923800936 SUPPORT K3Vv140
27 P-29245300461 PISTON & SHOE K3v180
1 P-29242500008 SHAFT K3v180
1 P-2933801244KD SHAFT K3Vv180
1 P-2933800883 SHAFT K3v180
2 P-2943800518KD SEAL RETAINER K3Vv180
2 P-371A00AA124K SHOE PLATE K3Vv180
1 P-29241100030K PISTON RETAINER K3Vv180
1 P-2943800503 SERVO PISTON K3Vv180
2 P-PRNA6932RKD BEARINGS K3v180
3 P-2953801988 TILTING BLOCK K3Vv180
2 P-29251300034A TILTING BLOCK K3v280
2 P-2953802324KD BALL GUIDE K3v280
1 P-3753700719 SHOE PLATE M2X120
1 P-3743700723KD PISTON RETAINER M2X120
2 P-3733700871KD CYLINDER BARREL M2X120
g P-370611232095 PISTON & SHOE M2X210
2 P-37243700015KD CYLINDER BARREL M2X210
4 P-377CA0AA351 PLUNGER M2X210




1 MPF4002AG7A25HBV1 MP RETURN FILTER MP

2 MPD2512AG4DSA10N DUPLEX FILTER MP

1 6030 BELL HOUSING MP

1 1979 BELL HOUSING MP

1 6054 BELL HOUSING MP

2 MLHHW300 MOTOR M&S

1 MLHSB100C4B MOTOR M&S

1 MLHSB80C4B MOTOR M&S

4 MLHR1260CN2B MOTOR M&S

4 MLHRQ160C4B MOTOR M&S

1 MLHRQ400C4B MOTOR M&S

3 MLHS125C4B2 MOTOR M&S

1 MLHS100C4B MOTOR M&S

2 8J4589 BOOM CYLINDER REBUILT CAT 235
1 9J4100 BUCKET CYLINDER REBUILT CAT 235
46 R736G25P FILTER FILTREC
12 RHR660N10B FILTER FILTREC

4 R733G25 FILTER FILTREC




